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. by osapatientOnolyes, sort : xtmixed unienteroratio neugg bmi age || subjectnumber:collectionnumber

-> osapatientOnolyes = 0
Performing EM optimization:
Performing gradient-based optimization:

Iteration 0: log likelihood = 1.6313327 (not concave)
Iteration 1: log likelihood = 1.6335702 (not concave)
Iteration 2: log likelihood = 1.6338092 (not concave)
Iteration 3: log likelihood = 1.6341446 (not concave)
Iteration 4: log likelihood = 1.6341495
Iteration 5: log likelihood = 1.6341505
Iteration 6: log likelihood = 1.6341505

Computing standard errors:

Mixed-effects ML regression Number of obs = 40
Group variable: subjectnumber Number of groups = 22
Obs per group: min = 1

avg = 1.8

max = 2
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Wald chi2(3) = 3.26

Log likelihood = 1.6341505 Prob > chi2 = 0.3528

unienteror~o Coef.  Std. Err. z P>|z| [95% Conf. Interval]

neugg .0038071 .0030591 1.24 0.213 -.0021888 .0098029

bmi -.0064587 .0052671 -1.23 0.220 -.0167821 .0038646

age -.0059834 .0037688 -1.59 0.112 -.0133701 .0014034

_cons .7846926 .259516 3.02 0.002 .2760506 1.293335

Random-effects Parameters Estimate Std. Err. [95% Conf. Interval]
subjectnum~r: Unstructured

var(collec~d) .0623418 28.63173 o .

var (_cons) .145528 71.57929 ) .

cov(collec~d,_cons) -.0911259 42.94758 -84.26684 84.08458

var (Residual) .0263246 14.31588 o .

LR test vs. linear regression: chi2(3) = 0.08 Prob > chi2 = 0.9944
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-> osapatientOnolyes = 1
Performing EM optimization:

Performing gradient-based optimization:

Iteration 0: log likelihood = 11.533435
Iteration 1: log likelihood = 11.540292
Iteration 2: log likelihood = 11.540301
Iteration 3: log likelihood = 11.540301
Computing standard errors:
Mixed-effects ML regression Number of obs = 36
Group variable: subjectnumber Number of groups = 23
Obs per group: min = 1
avg = 1.6
max = 2
Wald chi2(3) = 12.41
Log likelihood = 11.540301 Prob > chi2 = 0.0061
unienteror-o Coef.  Std. Err. P>|z| [95% Conf. Interval]
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neugg .004623 .0017789 2.60 0.009 .0011364 .0081096

bmi -.0028548 .0025874 -1.10 0.270 -.007926 .0022165

age .0027044 .0038995 0.69 0.488 -.0049385 .0103474

_cons .2598618 .2426606 1.07 0.284 -.2157443 .7354679

Random-effects Parameters Estimate Std. Err. [95% Conf. Interval]
subjectnum~r: Unstructured

var (collec~d) .0167912 16.09522 0 .

var (_cons) .1045048 40.23809 0 .

cov(collec~d,_cons) -.0395727 24.14284 -47.35868 47.27953

var (Residual) .0074728 8.047612 0 .

IR test vs. linear regression: chi2

(3) = 7.44

Prob > chi2 = 0.0592




